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An impulsive force Fx as a function of time (in ms) as applied to an object (m = 5.0 kg) at rest is shown

in the figure.
(a) What will be speed of the object at t = 2.0 Sae?
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(b) What is the speed of the object at t = 5.0?
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(c) What is the average force on the object during the time interval t = 1.0 to t = 5.0 ..S?
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A 10 gram bullet is shot in the +x-direction with a speed of v =500 m/s into a stationary block of wood
that has a mass of 5.0 kg. The bullet embeds itself in the block.
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(a) What distance (d) will the block slide on a surface having a coefficient of kinetic friction equal to 0.5?
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(b) What is the change in kinetic energy Kq-K;?
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(a) If the masses of m and ", in the figure are 1.0 kg each and m_is 2.0 kg, what ¥ (m)

are the coordinates of the center of mass?
XCM - M (X MRy f W3 Xz
M tMeth 3
- () ¢ 200 +(C2) 4

* o | e
- i
- C. « L/L 045 )
Mo = MY € MMy, i )
R _-_._-_-_____—,
- J(w__w = & _ 65w
#‘ yumy
(b) Each object in the figure has a mass of 2.0 kg. The mass m, is at rest, m, has a
m;
speed of 3.0 m/s and m, has a speed of 6.0 m/s. Find the momentum of the center 1+ O—»
of mass of the system is. T
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